
E-Z-GO TXT/ST Sport Windshield 

Installation Instructions 

Part# 28033           

 
Hardware Kit 

1-Windshield & Frame 

2- 5/16 x 2 ½ bolts 

2- 5/16 x 2 bolts 

8- 5/16 flat washers 

2- ½ spacers 

2- ¾ spacers 

1’-Rubber Trim 

 

 

 

Installation Instructions: 
1. If you have a roof on your cart, remove roof from the cart.  When installing the sport windshield you can 

re-use your stock roof mount hardware or replace it with the supplied 

hardware.  Carts without tops will require complete use of supplied 

hardware kit.  

2. Included is a 1’ piece of rubber trim for added windshield stability.  

Install the rubber trim to the center of the windshield before mounting 

the windshield on the cart.  Figure 3 shows the rubber trim installed 

on the finished product. 

3. With the stock hardware or supplied 5/16 x 2 ½ bolts, washers & ¾” 

spacers, loosely install the windshield frame to the top roof support 

holes on both sides of the cart as shown in Figures 1 & 2.  For carts 

with brush guards, install the mounting brackets behind the brush 

guard mounts.   

4. Using the stock hardware or supplied 5/16 x 2 bolts, washers and ½” spacers, loosely mount the 

windshield frame to the bottom stock roof support holes on both sides of the cart as shown in Figures 1 

& 2. 

5. Securely tighten all bolts.   

 

 

 
 


